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(Y.AJ) (Y.L)
(Aal) - 1.1
(Aa2) [
(Aa3) --7d.1

(Aa4) -- 6a.1
(Aab) -- 6a.2
(Aab) -- 5¢.3

(Aa7) --5c.1
(Aa8) -- 9a.5
(Abl) -- 7a.5
(Ab2) -- 7a.1
(Aa3) -- 7a.4
(Aad) -- 7a.6
(Aab) -- 7a.7
(Aab) -- 7a.25
(Aa7) -- 7a.10
(Aa8) -- 7a.8
(Aa9) -- 7a.15
(Aal0) - 7a.9
(Aall) - 7a.17
(Aal2) - 7a.13
(Aal3) - 7a.12
(Aal4) - 7a.20
(Aalb) - 7a.21
(Aal6) - 7a.16
(Aal7) - 7a.14
(Aal8) - 7a.18
(Aal9) - 7a.11
(Aa20) - 7a.26
(Aa2l) - 7a.23
(Aa22) - 7a.22

(Y.AJ) (Y.L)
(Aa23) - 7a.27
(Aa24) - 7a.2
(Aa25) - 7a.3
(Aaz26) - 7a.24
(Aa27) - 7a.1
(Aa28) - 7a.19
(Aa29) - 7a.28
(Acl) -- 2.1
(Ac2) -- 2.14

(Ac3) -- 2.12,13
(Acd) -- 12.3,13

(Ach) -- 2.2
(Ac6) -- 2.4
(Ac7)--2.5
(Ac8) -- 2.5
(Ac9) -- 2.7
(Acl0)-2.8
(Acll) - 7c.7
(Acl2) - 2.12
(Acl3)-2.10
(Acl4)-2.11
(Acl15) - 5b.6
(Ad1) -- 5b.0
(Ad2) -- 5b.1
(Ad3) -- 5b2
(Ad4) --5b.4
(Ad5) -- 5b.5
(Ad6) -- 5b.10
(Ad7) --5b.8
(Ad8) -- 5b.7
(Ad9) --5b.9
(Ad10) - 5c.4

(Y.AJ) (Y.L)
(Ad11) - 5c.4a
(Ael) -- 6a.5
(Ae2) -- 6a.3
(Ae3) -- 6a.4
(Aed) -- 6a.10
(Aeb) -- 6a.7
(Aeb) -- 6a.8
(Ae7) -- 6a.9
(Ae8) -- 6a.6
(Ae9) -- 5¢.3
(Af1) -- 5b.3
(Af2) -- 6a.11
(Af3) -- 9a.2
(Af4) -10b.1
(Af5) -- 3.2
(Af6) -- 6b.5

(Af7) -- 11b.11,12

(Bal) -- 7b.1
(Ba2) -- 7b.2
(Ba3) -- 7b.3
(Bad) -- 7b.7
(Ba5) -- 7b.8
(Ba6) -- 7b.4
(Ba7) -- 7b.9
(Ba8) -- 7b.5
(Ba9) -- 7b.6
(Bal0) - 7b.11
(Ball) - 7b.10
(Bal2) - 7b.12
(Bbl) -- 11a.2
(Bb2) -- 11a.5
(Bb3) -- 11a.6



(Bb4) - 11a.11
(Bb5) - 11a.8
(Bb6) - 11a.12
(Bb7) - 11a.13
(Bb8) - 11a.9
(Bb9) - 11a.1
(Bb10) - 11a.7
(Bb1l) - 3.1

(Bb12) -- 11b.7
(Bb13) - 11a.14

(Bb14) - 7c.8
(Bb15) - 7¢.10
(Bb16) - 11b.5

(Bb17) - 11a.15

(Bb18) - 11a.3

(Bb19) - 11a.16

(Bb20) - 6a.22
(Bb21) - 6a.21
(Bb22) - 6a.20
(Bcl) -- 7d.3
(Bc2) -- 7d.5
(Bc3) -- 7d.6
(Bc4) -- 7d.10
(Bc5) -- 7d.9
(Bc6) -- 7d.8
(Bc7) -- 7d.7
(Bc8) -- 10a.3
(Bc9) -- 8a.3
(Bcl10) - 8a.1
(Bcll) - 8a.2
(Bc12) - 8a.5
(Bc13)-8.5
(Bcl4) - 8.4
(Bc15) - 8.1
(Bc16) - 8.2
(Bc17) - 8.20

(Bc18) - 8.24
(Bc19) - 8b.3
(Bc20) - 8.23
(Bc21) - 7d.2
(Bc22) -9a.1
(Bc23) - 8.13
(Bc24) - 8.10
(Bc25) - 8.6
(Bc26) - 8.11
(Bc27) - 8.9a
(Bc28) - 8.13
(Bc29) - 8.12
(Bc30) - 8.7
(Bc31) - 8.14
(Bc32) - 8.8
(Bc33) - 8.25
(Bc34) - 8.17
(Bc35) - 8.16
(Bc36) - 8.3
(Bc37) - 8.15
(Bc38) - 8.21
(Bc39) - 8.22
(Bc40) - 8.27
(Bc4l) - 8b.4
(Bc42) - 8b.6
(Bc43) -- 8b.2
(Bc44) -- 8b.1
(Bc45) -- 8.18
(Bc46) - 8.29
(Bc47) -- 8a.4

(Bc48) -- 5b.12
(Bc49) -- 5b.11

(Bc50) -- 8b.5
(Bc51) -- 9a.3
(Bc52) -- 8.28
(Bc53) -- 9a.4

(Bc54) --10b.4
(Bc55) -- 10a.2
(Bc56) -- 10a.1
(Bc57) -- 10a.4
(Bc58) -- 3.4
(Bc59) -- 3.5
(Bc60) -- 3.3a
(Bc61) -- 3.3b
(Bc62) -- 3.3c
(Bc63) -- 3.6
(Bd1) -- 11b.1
(Bd2) - 6a.12
(Bd3) - 6a.14
(Bd4) - 6a.13
(Bd5) - 10c.1
(Bd6) - 10c.2
(Bd7) - 6a.18
(Bd8) - 6a.19
(Bd9) - 6a.15
(Bd10) - 6a.16
(Bd11) - 6a.17
(Bd12) -- 11b.3
(Bd13) -- 11b.2
(Bd14) -- 11b.10
(Bd15) -- 11b.9
(Bd16) -- 11b.8
(Bd17) -- 11b.4
(Bd18) -- 6b.1
(Bd19) -- 6b.2
(Bd20) -- 6b.3
(Bd21) -- 11b.6
(Bd22) -- 6b.7
(Bd23) -- 6b.9
(Bd24) -- 6b.6
(Bd25) -- 6b.8
(Bd26) -- 6b.14



(Bd27)
(Bd28)
(Bd29)
(Bd30)
(Bd31)
(Bd32)
(Bd33)
(Bd34)
(Bd35)
(Bd36)
(Bd37)
(Bd38)
(Bd39)
(Bd40)
(Bd41)
(Bd42)
(Bd43)
(Bd44)
(Bd45)
(Bd46)
(Bd47)
(Bd48)
(Bd49)
(Bd50)
(Bd51)
(Bd52)
(Bd53)
(Bd54)
(Bd55)

(Bel) --
(Be2) --
(Be3) --
(Be4) --
(Beb) --
(Beb) --
(Be7) --

-- 6b.14a
--9b.14
--9b.17
--6b.12
--6b.4
-- 6b.11
-- 6b.10
-- 6b.13
-- 6b.17
-- 6b.18
-- 6b.15
-- 6b.16
-- 6b.19
--9b.18
--9b.16
--9b.2
--9b.3
--9b.5
--9b.4
--9b.6
--9b.8
--9b.7
--9b.9
--9b.10
--9b.11
--9b.12
--9b.13
--9b115
--9b.1

5a.7
5a.6
5a.5
5a.2
5a.1
5a.4
5a.3

(Be8) -- 10b.5
(Be9) -- 10b.6
(Bel0) -- 10b.3
(Bell) -- 10b.2
(Bel2) -- 10b.7
(Bf1) -- 4.3
(Bf2) --4.1
(Bf3) -- 4.2
(Bf4) -- 4.3
(Bf5) --4.4
(Bf6e) -- 4.5
(Bf7) --7c.9
(Bf8) -- 9b.19
(C1) --7a.0
(C2) -- 7a.0l
(C3) -- 7a.29
(C4)--3.0
(C5) -- 7a.15a
(C6) -- 7a.16a
(C7) --7a.16b
(C8) --5¢.5
(C9) -- 5¢c.6
(C10) -- 5c.7
(C11) -- 7d.0
(C12) -- 6d.8a
(C13)--1.3
(C14) -- C5b.1
(C15) -- C5b.2
(C16) --11c.2
(Dal) --C7a.1
(Da2) --C2.1
(Da3) --C11.1
(Da4) -- C11.2
(Dab) -- C11.3
(Dab) -- C11.4
(Da7) -- C11.5

(Da8) -- C11.6
(Dag) -- C11.7
(Da10) -- C11.8
(Dall) -- C11.9
(Dal2) -- C11.10
(Dal3) -- C11.11
(Dal4) -- C11.12
(Dbl) - K7a.1
(Db2) -- K7a.2
(Db3) -- K2.1
(Db4) -- K5b.2
(Db5) - K5b.1
(Db6) -- K3.1
(Db7) -- K3.2
(Db8) -- K5b.3
(Db9) - K5b.4
(Db10) -- K9a.1
(Db1l) -- K4.1
(Db12) -- K5¢.1
(Db13) -- K7b.1
(Db14) -- K7b.2
(Db15) -- K7b.3
(Db16) -- K3.3
(Db17) -- K3.4
(Db18) -- K1la.1
(Db19) -- K11a.2
(Db20) -- K11a.3
(Db21) -- K3.5
(Db22) -- K3.6
(Db23) -- K3.7
(Db24) -- K9a.2
(Db25) -- K3.8
(Db26) -- K3.9
(Db27) -- K7d.1
(Db28) -- K7d.2
(Db29) -- K7d.3



(Db30) -- K7d.4
(Db31) -- K7d.5
(Db32) -- K7d.6
(Db33) -- K3.2a
(Db34) -- K6.1
(Db35) -- K6.2
(Db36) -- K3.10
(Db37) -- K7d.7
(Db38) -- K6.3
(Db39) - K6.4

(Y.L) (Y.AJ)
(Y.L) (Y.A.J)
(Y.L) (Y.AJ)
0.

[0.1] - 0

1. 8
1.1 - (Aal)
1.2--(Aa2)[ ]
1.3 - (C13)

2.

2.1-- (Acl)
2.2 -- (Ac3)
2.3 -- (Ac4)
2.4 -- (Ac6)
2.5 -- (AAC7)
2.6 -- (Ac8)
2.7 -- (Ac9)
2.8 -- (Ac10)
2.9-- (Ac12)
2.10 -- (Ac13)
2.11 -- (Acl4)
2.12 & 13 (Ac3)

(Db40) -- K5b.5
(Db41) -- K5b.6
(Db42) -- K4.2
(Db43) - K4.3

(E1) --
(E2) --
(E3) --
(E4) --
(ES) --
(ES) --

12.1&2
12.3
7c.5
7c.4a,b
7c.2
7c.3

2.14 -- (Ac2)
[2.15] -0
[2.15a] -- 0

3.0 --
3.1--
3.2 --
3.3 --
3.4 --
3.5--
3.6 --

4.1 --
4.2 -
4.3--
4.4 -
45 --
4.6 --

(C4)
(Bb11)
(Af5)
(Bc60-62)
(Bc58)
(Bch9)
(Bc63)

(Bf2)
(Bf3)
(Bf1)
(Bf4)
(Bf5)
(Bf6)

(E7) --
(E8) --
(E9) --
(E10) --
(E11) --
(E12) --
(E13) --
(E14) --
(E15) --

5a.

5a.1 --
5a.2 --
5a.3 --
5a.4 --
5a.5 --
5a.6 --
5a.7 --

[5a.8]
[5a.9]

12.8
12.11
12.9
12.10
12.6
12.7
12.12
125
12.4

(Beb)
(Bed)
(Be7)
(Beb)
(Be3)
(Be2)
(Bel)

-0
-0

[5a.10] 3 0

5b.

5b.0 --
5b.1 --
5b.2 --
5b.3 --
5b.4 --
5b.5 --
5b.6 --
5b.7 --

(Ad1)
(Ad2)
(Ad3)
(Af1)
(Ad4)
(Ad5)
(Ac15)
(Ad8)



5b.8 - (Ad7)
5b.9 -- (Ad9)
5b.10 -- (Ad6)
5b.11 -- (Bc49)
5b.12 -- (Bc48)

5c.

5c.1-- (Aa7)
5c.2 -- (Aab)
5c.3 -- (Ae8)
5c.4 -- (Ad10)
5c.4a-- (Ad1l1)
5c.5-- (C8)
5¢.6 -- (C9)
5¢.7 -- (C10)

6a.

6a.1 -- (Aa4)
6a.2 -- (Aab)
6a.3 -- (Ae2)
6a.4 -- (Ae3)
6a.5 -- (Ael)
6a.6 -- (Ae9)
6a.7 -- (Aeb)
6a.8 -- (Ae6)
6a.9 -- (Ae7)
6a.10 -- (Aed)
6a.11 -- (Af2)
6a.12 -- (Bd2)
6a.13 -- (Bd4)
6a.14 -- (Bd3)
6a.15 -- (Bd9)
6a.16 -- (Bd10)
6a.17 -- (Bd11)
6a.18 -- (Bd7)
6a.19 -- (Bd8)

6a.20 -- (Bb22)
6a.21 - (Bb21)
6a.22 -- (Bb20)

6b.
6b.1 -- (Bd18)
6b.2 -- (Bd19)
6b.3 -- (Bd20)
6b.4 -- (Bd31)
6b.5 - (Af6)
60.6 -- (Bd24)
6b.7 -- (Bd22)
6b.8 -- (Bd25)
6b.8a - (C12)
6b.9 -- (Bd23)
6b.10 -- (Bd33)
6b.11 -- (Bd32)
6b.12 - (Bd30)
6b.13 - (Bd34)
6b.14 -- (Bd26)
6b.14a -- (Bd27)
6b.15 -- (Bd37)
6b.16 - (Bd38)
6b.17 - (Bd35)
6b.18 -- (Bd36)
6b.19 - (Bd39)

7a. —
7a.# -- (C1)
7a.# -- (C2)
7a.1 -- (Ab2)
7a.2 -- (Ab24)
7a.3 -- (Ab25)
7a.4 -- (Ab3)
7a.5 -- (Abl)
7a.6 -- (Ab4)

10

7a.7 -- (Ab5)
7a.8 -- (Ab8)
7a.9 -- (Ab10)
7a.10 -- (Ab7)
7a.11 -- (Ab19)
7a.12 - (Ab13)
7a.13 -- (Ab12)
7a.14 -- (Ab17)
7a.15 -- (Ab9)
7a.15a -- (C5)
7a.16 -- (Ab16)
7a.16a -- (C6)
7a.16b -- (C7)
7a.17 -- (Ab11)
7a.18 -- (Ab18)
7a.19 - (Ab28)
7a.20 - (Ab14)
7a.21 -- (Ab15)
7a.22 -- (Ab22)
7a.23 - (Ab21)
7a.24 -- (Ab26)
7a.25 -- (Ab6)
7a.26 -- (Ab20)
7a.27 - (Ab23)
7a.28 -- (Ab29)
7a.29 - (C3)

7b. —

7b.1 -- (Bal)
7b.2 -- (Ba2)
7b.3 -- (Ba3d)
7b.4 -- (Bab)
7b.5 -- (Ba8)
7b.6 -- (Ba9)
7b.7 -- (Bad)
7b.8 -- (Bab)



7b.9 -- (Ba7)

7b.10 -- (Ball)
7b.11 -- (Bal0)
7b.12 - (Bal2)

7c. —
7c.1-- (Ab27)
7c.2-- (ED)
7c.2-- (ED)
7c.3 -- (E6)
7c.4a-- (E4a)
7c.4b -- (E4b)
7c.5-- (E3)
7c.6 -- (Ac4)
7c.7 -- (Acll)
7c.8 -- (Bb14)
7c.9 -- (Bf7)
7c.10 -- (Bb15)

7d. 8
7d.0 -- (C11)
7d.1 -- (Aa3)
7d.2 -- (Bc21)
7d.3 -- (Bcl)
7d.5 -- (Bc2)
7d.6 -- (Bc3)
7d.7 -- (Bc7)
7d.8 -- (Bc6)
7d.9 -- (BcH)
7d.10 -- (Bc4)

8.
8.1 -- (Bc15)
8.2 -- (Bc16)
8.3 -- (Bc36)
8.4 -- (Bc14)

8.5 -- (Bc13)

8.6 -- (Bc25)

8.7 -- (Bc30)

8.8 -- (Bc32)

8.9 - (Bc23)

8.9a -- (Bc27)
8.10 -- (Bc24)
8.11 -- (Bc26)
8.12 -- (Bc29)
8.13 -- (Bc28)
8.14 -- (Bc31)
8.15 -- (Bc37)
8.16 -- (Bc35)
8.17 -- (Bc34)
8.18 -- (Bc45)
8.20 -- (Bc17)
8.21 -- (Bc38)
8.22 -- (Bc39)
8.23 -- (Bc20)
8.24 -- (Bc18)
8.25 -- (Bc33)
8.27 -- (Bc40)
8.28 -- (Bc52)
8.29 -- (Bc46)

8a. -
8a.1 -- (Bc10)
8a.2 -- (Bcll)
8a.3 -- (Bc9)
8a.4 -- (Bc47)
8a.5 -- (Bc12)

8b. —

8b.1 - (Bc44)
8b.2 - (Bc43)
8b.3 - (Bc19)

11

8b.4 -- (Bcal)
80.5 -- (Bc50)
8b.6 -- (Bc42)

9a. <
9a.1 -- (Bc28)
9a.2 - (Af3)
9a.3 -- (Bch1)
9a.4 -- (Bch53)
9a.5 -- (Aa8)

9b.

9b.1 -- (Bd55)
9b.2 -- (Bd42)
9b.3 -- (Bd43)
9b.4 -- (Bd45)
9b.5 -- (Bd44)
9b.6 -- (Bd46)
9b.7 -- (Bd48)
9b.8 -- (Bd47)
9b.9 -- (Bd49)
9b.10 -- (Bd50)
9b.11 -- (Bd51)
9b.12 -- (Bd52)
9b.13 -- (Bd53)
9b.14 -- (Bd28)
9b.15 -- (Bd4)
9b.16 -- (Bd41)
9b.17 -- (Bd29)
9b.18 -- (Bd40)
9b.19 -- (Bf8)

10a.

10a.1 -- (Bc56)
10a.2 -- (Bc55)
10a.3 -- (Bc8)



10a.4 -- (Bc57)

10b.

10b.1 -- (Af4)
10b.2 - (Bell)
10b.3 -- (Be10)
10b.4 -- (Bc54)
10b.5 -- (Be8)
10b.6 -- (Be9)
10b.7 -- (Bel8)

10c.
10c.1 - (Bd5)
10c.2 - (BdS6)

11a. —
11a.1 -- (Bb9)
11a.2 -- (Bbl)
11a.3 -- (Bb18)
11a.5 -- (Bb2)
11a.6 - (Bb3)
11a.7 -- (Bb10)
11a.8 -- (Bb5)
11a.9 -- (Bb6)
11a.11 -- (Bb9)
11a.12 -(Bd6)
11a.13 -(Bd7)
11a.14 -(Bd13)
11a.15 -(Bd17)
11a.16 -(Bd19)

11b. —
11b.1 - (Bd1)
11b.2 - (Bd15)
11b.3 -- (Bd12)
11b.4 - (Bd17)

11b.5 -- (Bb16)
11b.6 -- (Bd21)
11b.7 - (Bb12)
11b.8 -- (Bd16)
11b.9 -- (Bd15)
11b.10 -- (Bd14)

11b.11&12 -- (Af7)

1lc.

11c.1-- (C15)
12.

12.1&2 -- (E1)
12.3 -- (E2)
12.4 -- (E15)
12.5 -- (E14)
12.6 -- (E11)
12.7 -- (E12)
12.8 -- (E7)
12.9 -- (E9)
12.10 -- (E10)
12.11 -- (E8)
12.12 -- (E13)
C.

C2.

C2.1 -- (Da2)
C5b.

C5b.1 -(C14)
C5b.2 -(C15)
C7a. —
C7a.l -(Dal)
C11.

12

C11.1 -(Da3)
C11.2 -(Dad)
C11.3 -(Dab)
C11.4 -(Dab)
C11.5 -(Da7)
C11.6 -(Da8)
C11.7 -(Dao)
C11.8 -(Dal0)
C11.9 -(Dall)
C11.10 -(Dal12)
C11.11 -(Dal3)
C11.12 -(Dal4)

K.
K2.
K2.1 -(Db3)

K3.

K3.1 -(Db6)
K3.2 -(Db7)
K3.2a -(Db33)
K3.3 -(Db16)
K3.4 -(Db17)
K3.5 -(Db21)
K3.6 -(Db22)
K3.7 -(Db23)
K3.8 -(Db25)
K3.9 -(Db26)
K3.10 -(Db35)

K4.
K4.1 -(Db11)
K4.2 -(Db42)
K4.3 -(Db43)

K5b.



K5b.1 -(Db5) K9a.2 -(Db24)
K5b.2 -(Db4)

K5b.3 -(Db8) Klla.

K5b.4 -(Db9) Klla.1 -(Db18)
K5b.5 -(Db40) K1la.2 -(Db19)
K5b.6 -(Db41) K1la.3 -(Db20)

Kb5c.
K5c.1 -(Db5)

K6.
K6.1 -(Db34)
K6.2 -(Db35)
K6.3 -(Db38)
K6.4 -(Db39)

K7a. —
K7a.1 -(Db1)
K7a.2 -(Db2)

K7b. —

K7b.1 -(Db13)
K7b.2 -(Db14)
K7b.3 -(Db15)

K7d.

K7d.1 -(Db27)
K7d.2 -(Db28)
K7d.3 -(Db29)
K7d.4 -(Db30)
K7d.5 -(Db31)
K7d.6 -(Db32)
K7d.7 -(Db37)

K9a. <
K9a.1 -(Db10)

13
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